6N5 - Use negative numbers in context, and calculate intervals across zero

Degrees C
LoNdOon s — 10
Paris —--E— 5
=0
Oslo —p-= -5
Reykjavik —-—E— -10
Murmansk —--; -15
Toronto ——-E— =20
Moscow —-—; -25
=-30

)_

What is the difference in temperature between Moscow
and Paris?

30 degrees -20 degrees 20 degrees 5 degrees
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What is the difference in temperature between Moscow
and Paris?

22 degrees -30 degrees -22 degrees 30 degrees

Count backwards in steps of 7

(16 | 9 | 2 | .. |-12|-19]

What is the missing number in the sequence?

3 o -9 o5 D=5

What number is 16 more than -37

-19 013 19 o =13

Calculate the difference between -5 and 8.

Calculate the difference between -12 and 16.




